Exemple 5.13 avec I'entrée : int|2||3]]4]

Production Régles Sémantiques
T — BC Tt = (Ot
Cb = Bt
B —int B.t := integer
B — float Bt := float
C—|num|C; | Ct := array(num.val, Cy.t)
Cl.b .= Cb
C — ¢ Ct = (Cb
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Exemple 5.13 avec I'entrée : int[2||3][4]

Production Reégles Sémantiques
T — BC Tt = Cit
Cb := Bt
B —int B.t := integer
B — float Bt := float
C —[num]| Ct := array(num.val, C1.t)
cCib = Cb
C —e¢ ct = Cb
T
B C1
int [ num| 2 | ] s

P
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Exemple 5.13 avec I'entrée : int[2||3][4]

Production Reégles Sémantiques
T — BC Tt = Ct
cCb = Bt
B —int Bt := integer
B — float Bt := float
C —[num]| Ct := array(num.val, C1.t)
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C —e ct = Cb
T
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int [ num| 2| | 5
| num| 3 | | C's t1: integer
[ num| 4 | ] Ca
€
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Exemple 5.13 avec I'entrée : int[2||3][4]

Production Reégles Sémantiques
T — BC Tt = Ct
Cb = Bt
B —int B.t := integer
B — float Bt := float
C —[num]| Ct := array(num.val, C1.t)
Cib = Cb
C —e cCt = Cb
B tl tl Cl
int num ] t1 Cs
| num| 3 | | t1 O3 t1: integer
[ num| 4 | ] t1 Calla
€
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Exemple 5.13 avec I'entrée : int[2||3][4]
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Cb = Bt
B —int B.t := integer
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Production Reégles Sémantiques
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Exemple 5.13 avec I'entrée : int[2||3][4]

Production Reégles Sémantiques
T — BC Tt = Ct
Cb = Bt
B —int B.t := integer
B — float Bt := float
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